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Part A: Grammar 
Directions: Questions 1-10 are incomplete sentences. Beneath each sentence you will see four words or phrases, marked (1,2,3), and (4). 
Choose the one word or phrase that best completes the sentence, then mark the correct choice on your answer sheet. 

 

1- What are these smelly socks doing in the fridge? I don’t remember … . 
1) there to put it                  2) there I put it 
3) to put them there      4) putting them there  

2- They actually needed a discussion … the whole business. 
1) if to recognize or not   2) about that they recognized  
3) on whether to recognize     4) in which recognized  

3- It is a … carriage clock, dating from the eightieth century.  
1) beautiful big brass English   2) beautiful big English brass 
3) big English beautiful brass    4) English big beautiful brass  

4- Would you please check whether that report has arrived and, …, send it out to Mr. Grey?  
1) rather than that  2) if so 3) to do so  4) despite that 

5- The doctor prescribed me both ibuprofen and aspirin, … . 
1) but neither worked    2) and neither they worked 
3) and didn’t work either     4) but didn’t they work either  

6- I can’t hear the voice of my baby nagging about her broken toy because … outside.  
1) what the birds sing       2) of the birds are singing  
3) of the birds singing         4) they are the birds sing  

7- The friendly atmosphere of the college … . 
1) made the place a pleasure studying  2) where the college was a pleasure studying  
3) that it was made a pleasure to study there 4) made it a pleasure to study there           

8- Brad starred in numerous major movies but particularly … . 
1) not ones that great 2) no great ones   3) none of them great ones 4) nothing as great ones  

9- Protein is not only found in red meat … found in white meat, many vegetables and other food products.   
1) and is also  2) also it is  3) but is also 4) that is also 

10- If Sarah doesn’t hurry, she’ll miss the plane. There is … spare.  
1) very little time to     2) only little time  
3) not enough time when she  4) not much of time when she  
 
 

Part B: Vocabulary 
Directions: Questions 11-25 are incomplete sentences. Beneath each sentence you will see four words or phrases, marked (1,2,3) and (4). 
Choose the one word or phrase that best completes the sentence, then mark the correct choice on your answer sheet. 

 

11- If you had parked your car in a no-parking zone, you would have been … . 
1) feared 2) fined  3) forged 4) freed 

12- Language acquisition is one of the central topics in cognitive science. Every theory of cognition has tried to 
explain it; probably no other topic has … such controversy. 
1) assented  2) appreciated  3) accused   4) aroused 

13- Many crimes are committed each year against those who … the slum area of our city. 
1) compete 2) surrender 3) inhabit 4) perform  

14- Numbers and results are not particularly useful in themselves; we need to … them to understand what they 
actually mean. 
1) judge                2) absorb              3) expand                4) interpret 

15- The time is … when human workers may be replaced by a robot. 
1) spending 2) mending 3) approaching 4) preferring 

16- As a supporter of the value of free trade, Bennett was often called upon to give speeches around the world 
extolling the … of unencumbered commerce. 
1) demerits  2) ambiguities 3) virtues   4) euphemisms 
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17- Some of the jobs around the house were required, whereas others were done on a … basis. 
1) vital  2) voluntary 3) significant 4) grateful  

18- Nobody is … to accept the responsibility of what happened in the office last week. 
1) vague 2) sound  3) aware  4) keen 

19- Both parties accepted the … of the contract and signed it agreeably. 
1) occasions 2) conditions  3) positions 4) situations 

20- The clothing of men and women used to be quite …, whereas today women often wear trousers as well as men. 
1) eminent 2) identical 3) distinct 4) visible  

21- After the organization aided the catastrophe victims, it was given an award for … . 
1) innovation  2) conciliation  3) lavishness   4) altruism 

22- Although the story didn’t say what happened in the end, we can easily reach the necessary … .  
1) conclusion 2) function 3) presentation 4) performance 

23- The arrival of coffee in Britain … that of tea, however, it is the second drink which is more popular today. 
1) converted           2) narrowed               3) pursued               4) preceded 

24- A health inspector gave … instructions on how to correct the problem; we all found out how to handle the 
situation. 
1) perpetual  2) rudimentary   3) explicit  4) trivial 

25- Manufacturers and specialists are struggling to respond to … changing, albeit predictable, requirements. 
1) actually 2) emotionally 3) continuously 4) definitely 
 

Part C: Word Order 
Directions: Choose the sentence with the best order for each of the following series, then mark the correct choice on your answer sheet. 

 

26-  
1) Lauren tried hardly so that she may finish the exam more quickly than Scott had done. 
2) Lauren tried hard so as finish the exam quicker than Scott did.   
3) Lauren tried hardly so as to finish the exam more quicker than Scott had done. 
4) Lauren tried hard so that she might finish the exam more quickly than Scott did. 

27-  
1) While he was a simple clerk, he imagined to be an important politician. 
2) Although he was a simple clerk, he imagined to be as important politician. 
3) While he was a simple clerk, he imagined being as important politician. 
4) Although he was a simple clerk, he imagined being an important politician. 

28-  
1) Not until now computers have programmed to react to a range of spoken commands. 
2) Not until now have computers programmed to react on a range of spoken commands. 
3) Not until now have computers been programmed to react to a range of spoken commands. 
4) Not until now computers have been programmed to react on a range of spoken commands. 

29-  
1) A small amount of radiation can help curing someone, in case too much will cause harm. 
2) A small amount of radiation can help to cure someone, in case too many will cause harm. 
3) A small amount of radiation can help cure someone, whereas too many will cause harm. 
4) A small amount of radiation can help cure someone, whereas too much will cause harm. 

30-  
1) Small violins have short strings than fulled-size instruments, but they play the same notes. 
2) Small violins have shortest strings of full-size instruments, but they play the same notes. 
3) Small violins have shorter strings from fulled-size instruments, but they play the same notes. 
4) Small violins have shorter strings than full-size instruments, but they play the same notes. 
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Part D: Language Function 
Directions: Read the following conversations between two people and answer the questions about the conversations by choosing one of 

the choices (1,2,3) or (4). Then mark the correct choice on your answer sheet. 
 

A: …(31)… for a minute. I will get dressed shortly. 
B: It’s ok. I’ll be waiting by the door. 
31- 1) What if you get       2) Would you rather hold on       

3) Mind if I catch up on      4) Could you hold off 
A: I heard about your mom’s illness getting worse yesterday. …(32)…? 
B: The illness won’t be lasting. “…(33)…, and she’ll soon get better” the doctor said. 
32- 1) Why don’t you say 2) Would you say 3) Then you mean it is 4) How does it go 
33- 1) It’s no trouble 2) You insist    3) If I were you    4) I know what you mean 
A: Although I teach in two schools 5 days a week, it’s still hard to …(34)… . I still need more money to buy a 
house. 
B: Come on. Teachers don’t earn that much, do they? You’d better think of a real business. 
A: Maybe you’re right. …(35)… I found a worthwhile job. 
34- 1) roll in money    2) make ends meet  3) be made of money  4) remain short of money 
35- 1) Maybe it’s time  2) I’m afraid    3) It’s hard to say  4) You have a point 
A: The other day our boss came to me and suggested I start working as the sales director. Yet, I have qualms 
whether I’m capable of managing it or not. 
B: …(36)…!? I would have grabbed the opportunity with both hands if I were in your shoes. 
A: It’s a golden opportunity, I know that, but …(37)… whether it’ll make a good job or not. 
B: Come on. Easy does it. 
36- 1) I have to admit 2) What if it’s true 3) Why not 4) I don’t think so 
37- 1) I doubt as to 2) that’s right   3) let’s see   4) I rest assured 
A: C. Ronaldo was …(38)… as the best player of the world last year.  
B: He pretty much deserves it. He’s extremely hardworking. 
38- 1) let down  2) picked out   3) dropped off    4) gotten over 
A: We went to granny’s house yesterday. All the children were playing with her. I’m sure it …(39)… . 
B: She must have been pretty happy. By the way, How does she …(40)…? 
A: She is a craftswoman, making beautiful handicrafts and selling them to local people. 
B: Quite wonderful. 
39- 1) worked out for her          2) made her day  

3) was quite beyond her   4) was more than she could take 
40- 1) remain on good terms  2) have her way  

3) go wrong  4) earn a living 
 

Part E: Cloze Test 
Directions: Read the following passage and decide which choice (1,2,3) or (4) best fits each space. Then mark the correct choice on your 

answer sheet. 
 

Around ten million people worldwide have been to see Yann Arthus-Bertrand’s exhibition of aerial photos 
called The Earth from the Air. The exhibition features shots (41) … in over 100 different countries and never fails 
to make a lasting impression (42) … those who come to see it. (43) … part of the fascination probably (44) … 
Bertrand is putting on record things that the public could not (45) … see, this alone cannot explain why people are 
so deeply affected by the photographs themselves. The exhibition (46) … people feeling enriched, with a more 
positive outlook on life, (47) … many return with their friends. It’s almost (48) … the exhibition was 
communicating something of the spiritual and educational value of travel itself. 

Bertrand was living in Kenya, studying lions, when he began (49) … the photographs. “It’s hard to get a clear 
idea of that sort of territory from the ground,” he explains, so when a friend offered to take him up in her plane, 
he accepted. “Suddenly, I (50) … the beauty of the landscape in a new way,” he (51) … . “I was captivated.” 
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Since that day, Bertrand (52) …. aerial photographs on a worldwide scale. For some shots, he (53) …. with a 
specific place in mind, but around 80% of the destinations were found by (54) … . What’s more, he never tires of 
searching for new places, (55) … he’ll spot something tomorrow that will be even more impressive than what he 
has seen today. 
41- 1) which taken  2) taking      3) taken      4) are taken 
42- 1) through 2) on 3) for      4) in 
43- 1) Because     2) Since 3) Once   4) Although 
44- 1) coming the fact that        2) the fact that comes from        

3) the fact coming from         4) comes from the fact that 
45- 1) however 2) otherwise 3) therefore 4) providing 
46- 1) leaves       2) sends      3) makes        4) lets 
47- 1) but        2) nor      3) and        4) or 
48- 1) as if                 2) as of             3) as for            4) as yet 
49- 1) to taking          2) taking           3) take           4) by taking 
50- 1) could have really seen          2) could really see         

3) can really see         4) can have really seen  
51- 1) replies       2) recalls       3) repeats      4) retains 
52- 1) had been taking      2) was taking        3) has been taking 4) is taking 
53- 1) comes up       2) gets on     3) sets out     4) does away 
54- 1) luck      2) chance   3) fate 4) fortune 
55- 1) always believes that         2) that believing always        

3) always believing that         4) to believe that always 
 

Part F: Reading Comprehension  
Directions: In this part of the test, you will read three passages. Answer the questions about the passages by choosing the best choice 
(1,2,3) or (4). Then mark the correct choice on your answer sheet. 

 

PASSAGE 1 
The term “folk song” has been current for over a hundred years, but there is still a good deal of disagreement 

as to what it actually means. The definition provided by the International Folk Music Council states that folk 
music is the music of ordinary people, which is passed on from person to person by being listened to rather 
than learned from the printed page. Other factors that help shape a folk song include: continuity (many 
performances over a number of years); variation (changes in words and melodies either through artistic 
interpretation or failure of memory); and selection (the acceptance of a song by the community in which it 
evolves). 

When songs have been subjected to these processes their origin is usually impossible to trace. For instance, if 
a farm laborer were to make up a song and sing it to a couple of friends who like it and memorize it, possibly 
when the friends come to sing it themselves one of them might forget some of the words and make up new ones 
to fill the gap, while the other, perhaps more artistic, might add a few decorative touches to the tune and 
improve a couple of lines of the text. If this happened a few times there would be many different versions, the 
song’s original composer would be forgotten, and the song would become common property. This constant 
reshaping and re-creation is the essence of folk music.  

Consequently, modern popular songs and other published music, even though widely sung by people who are 
not professional musicians, are not considered folk music. The music and words have been set by a printed or 
recorded source, limiting the scope for further artistic creation. These songs’ origins cannot be disguised and 
therefore they belong primarily to the composer and not to a community. 

The ideal situation for the creation of folk music is an isolated rural community. In such a setting folk songs 
and dances have a special purpose at every stage of a person’s life, from childhood to death. Epic tales of heroic 
deeds, seasonal songs relating to calendar events, and occupational songs are also likely to be sung.  
56- What does the passage mainly discuss?  

1) Elements that define folk music 
2) Themes commonly found in folk music  
3) Influences of folk music on popular music  
4) The standards of the International Folk Music Council  
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57- Which of the following statements about the term "folk song" is supported by the passage?  
1) It has been used for several centuries.  
2) The International Folk Music Council invented it. 
3) It is considered to be out-of-date.  
4) There is disagreement about its meaning.  

58- The underlined word "it" refers to … . 
1) community 2) song 3) acceptance 4) memory  

59- Which of the following is NOT mentioned in the passage as a characteristic of the typical folk song?  
1) It is constantly changing over time. 
2) It is passed on to other people by being performed.  
3) It contains complex musical structures.  
4) It appeals to many people.  

60- According to the passage, why would the original composers of folk songs be forgotten?  
1) Audiences prefer songs composed by professional musicians.  
2) Singers dislike the decorative touches in folk song tunes.  
3) Folk songs are not considered an important form of music. 
4) Numerous variations of folk songs come to exist at the same time.  

PASSAGE 2 
Long before they can actually speak, babies pay special attention to the speech they hear around them. 

Within the first month of their lives, babies' responses to the sound of the human voice will be different from 
their responses to other sorts of auditory stimuli. They will stop crying when they hear a person talking, but not 
if they hear a bell or the sound of a rattle. At first, the sounds that an infant notices might be only those words 
that receive the heaviest emphasis and that often occur at the ends of utterances. By the time they are six or 
seven weeks old, babies can detect the difference between syllables pronounced with rising and falling 
inflections. Very soon, these differences in adult stress and intonation can influence babies' emotional states and 
behavior. Long before they develop actual language comprehension, babies can sense when an adult is playful 
or angry, attempting to initiate or terminate new behavior, and so on, merely on the basis of cues such as the 
rate, volume, and melody of adult speech. 

Adults make it as easy as they can for babies to pick up a language by exaggerating such cues. One 
researcher observed babies and their mothers in six diverse cultures and found that, in all six languages, the 
mothers used simplified syntax, short utterances and nonsense sounds, and transformed certain sounds into 
baby talk. Other investigators have noted that when mothers talk to babies who are only a few months old, they 
exaggerate the pitch, loudness, and intensity of their words. They also exaggerate their facial expressions, hold 
vowels longer, and emphasize certain words. 

More significant for language development than their response to general intonation is the observation that 
tiny babies can make relatively fine distinctions between speech sounds. In other words, babies enter the world 
with the ability to make precisely those perceptual discriminations that are necessary if they are to acquire 
aural language.  

Babies obviously derive pleasure from sound input, too: even as young as nine months they will listen to 
songs or stories, although the words themselves are beyond their understanding. For babies, language is a 
sensory-motor delight rather than the route to prosaic meaning that it often is for adults. 
61- What does the passage mainly discuss?  

1) How babies differentiate between the sound of the human voice and other sounds  
2) The differences between a baby's and an adult's ability to comprehend language  
3) How babies perceive and respond to the human voice in their earliest stages of language development  
4) The response of babies to sounds other than the human voice  

62- Why does the author mention syllables pronounced with rising and falling inflections?  
1) To illustrate that a six-week-old baby can already distinguish some language differences 
2) To demonstrate how difficult it is for babies to interpret emotions  
3) To provide an example of the ways adults speak to babies  
4) To give a reason for babies’ difficulty in distinguishing one adult from another  
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63- The underlined word “diverse” is closest in meaning to … . 
1) surrounding  2) divided 3) stimulating 4) different  

64- The passage mentions all of the following as the ways adults modify their speech when talking to babies 
EXCEPT … . 
1) giving all words equal emphasis  2) speaking with shorter sentences  
3) speaking more loudly than normal  4) using meaningless sounds  

65- Which of the following can be inferred about the findings described in paragraph 2?  
1) Mothers from different cultures speak to their babies in similar ways. 
2) Babies who are exposed to more than one language can speak earlier than babies exposed to a single language.  
3) Babies ignore facial expressions in comprehending aural language.  
4) The mothers observed by the researchers were consciously teaching their babies to speak.  

PASSAGE 3 
Under the Earth's topsoil, at various levels, sometimes under a layer of rock, there are deposits of clay. Look 

at cuts where highways have been built to see exposed clay beds; or look at a construction site, where pockets of 
clay may be exposed. Rivers also reveal clay along their banks, and erosion on a hillside may make clay easily 
accessible.  

What is clay made of? The Earth's surface is basically rock, and it is this rock that gradually decomposes 
into clay. Rain, streams, alternating freezing and thawing, roots of trees and plants forcing their way into 
cracks, earthquakes, volcanic action, and glaciers- all of these forces slowly break down the Earth's exposed 
rocky crust into smaller and smaller pieces that eventually become clay. 

Rocks are composed of elements and compounds of elements. Feldspar, which is the most abundant mineral 
on the Earth's surface, is basically made up of the oxides silica and alumina combined with alkalies like 
potassium and some so-called impurities such as iron. Feldspar is an essential component of granite rocks, and 
as such, it is the basis of clay. When it is wet, clay can be easily shaped to make a variety of useful objects, 
which can then be fired to varying degrees of hardness and covered with impermeable decorative coatings of 
glasslike material called glaze. Just as volcanic action, with its intense heat, fuses the elements in certain rocks 
into a glasslike rock called obsidian, so can we apply heat to earthen materials and change them into a hard, 
dense material. Different clays need different heat levels to fuse, and some, the low-fire clays, never become 
nonporous and watertight like highly fired stoneware. Each clay can stand only a certain amount of heat 
without losing its shape through sagging or melting. Variations of clay composition and the temperatures at 
which they are fired account for the differences in texture and appearance between a china teacup and an 
earthenware flowerpot.  
66- The author's main point in paragraph 1 is that clay deposits … . 

1) can be found in various places 2) conceal layers of rock 
3) are usually small   4) must be removed from construction sites  

67- It can be inferred from the passage that clay is LEAST likely to be plentiful in which of the following areas?  
1) In desert sand dunes 2) In forests  3) On hillsides  4) Near rivers  

68- According to the passage, rock breaks down into clay under all of the following conditions EXCEPT when … 
.  
1) it is exposed to freezing and thawing  2) roots of trees force their way into cracks  
3) natural forces wear away the Earth's crust 4) it is combined with alkalies 

69- Why does the author mention the underlined word “feldspar”?  
1) It is often used as a substitute for clay.  2) It is damaged by the oxides in clay.  
3) Its presence indicates inferior clay.  4) It is a major component of clay.  

70- Based on the information in the passage, it can be inferred that low-fire clays are MOST appropriate for 
making objects that … . 
1) must be strong   2) can be porous  
3) have a smooth texture   4) are highly decorated  
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  (سپيده عرب)  »3«ي  گزينه - 1

  ي مهم درسي نكته
رود. البته  كار مي فعل به دو صورت مصدر و اسم مصدر به ”remember“ بعد از

جا به اين  هر كدام حامل معناي خاصي هستند. استفاده از اسم مصدر در اين
رخ داده  ”remember“ معناست كه فعاليت مد نظر قبل از فعل اصلي يعني

  است. 
 ---- ------------------------------------------  

  (سپيده عرب)  »3«ي  گزينه - 2
  ي مهم درسي نكته

“discussion” ةحروف اضاف“with, about, of, on”   و مانند آن را در جمله
به بهترين نحو جاي  »3« ةگزين ،با توجه به معني و ترتيب اجزاي جمله. پذيراست

 كند.  خالي را پر مي

------------ ----------------------------------  
  (سپيده عرب)  »3«ي  گزينه - 3

  ي مهم درسي نكته
  :به ترتيب قرار گرفتن صفات قبل از اسم دقت كنيد

  اسم + هدف + جنس + مليت + رنگ + شكل + سن + اندازه + كيفيت
 ----------------------------------------------  

  (سپيده عرب)  »3«ي  گزينه - 4
  مهم درسيي  نكته

“if so” از لحاظ معنايي و ترتيب اجزاي جمله به  »چنين است اگر اين« به معني
، ”whether“كند، زيرا با وجود حرف ربط  بهترين نحو جاي خالي جمله را پر مي

  اتفاق بيفتد.   Yصورت در اين ،اتفاق افتادX جمله حالت مشروط دارد كه اگر 
 --------------------------------- -------------  

  (سپيده عرب)  »3«ي  گزينه - 5
  ي مهم درسي نكته

را به كار  ”neither“براي بيان اين مطلب كه هيچ كدام از دو دارو اثر نداشته است 
توانست  بود نيز مي  ”neither of them worked“اگر به صورت» 2«بريم. گزينة  مي

ي با جمله مطابقت ندارند. هم از لحاظ ساختار» 4و  3«هاي  پاسخ صحيح باشد. گزينه
   رود. كار مي به» يكي يا ديگري«براي بيان كاربرد   ”either“دقت كنيد

 ----------------------------------------------  
  (سپيده عرب)  »3«ي  گزينه - 6

  ي مهم درسي نكته
باشد. در  مي  ”of“»دليل خاطر، به به«به معناي   ”because“مناسب ةحرف اضاف

  شود.  ساختار جمله صحيح مي ،را حذف كنيم  ”of“اگر »2« ةگزين
 ----------------------------------------------  

  (سپيده عرب)  »3«ي  گزينه - 7
  مهم درسي ةنكت

  دقت كنيد.  »make + sb/sth + (a/ an) + noun + infinitive«به ساختار
 ----------------------------------------------  

  (سپيده عرب)  »3« ي گزينه - 8
  مهم درسي ةنكت

تواند بخش دوم جمله را كه  از لحاظ درستي ترتيب اجزا مي »2« ةتنها گزين
  كند. ) كامل ”but“ گر تضاد است (به دليل وجود بيان

  (سپيده عرب)  »3«ي  گزينه - 9
  مهم درسي ةنكت

  در اين جمله توجه كنيد.   ”not only … but also“به ساختار 
 ------------- ---------------------------------  

  (سپيده عرب)  »3«ي  گزينه -10
  مهم درسي ةنكت

“little” شمارش و همراه با بار منفي به معني كم و ناكافي و   قابل با اسامي غير
رود. با توجه به ترتيب  كار مي سنج، به اين كميت براي تاكيد همراه با ”very“ قيد

    است.  »1« ةصحيح، گزين ةزينتنها گ ،صحيح ساختاري اجزاي جمله
 ----------------------------------------------  

  (جواد مؤمني)  »3«ي  گزينه -11
پارك ممنوع پارك كرده بوديد،  ةاگر شما ماشينتان را در يك ناحي«جمله:  ةترجم

  »جريمه شده بوديد.
  ) جريمه كردن2  ) ترسيدن1
  دن، رها كردن) آزاد كر4  ) جعل كردن3

 ------ ----------------------------------------  
  )اكبر افرازي علي(  »4«ي  گزينه -12

فراگيري زبان يكي از موضوعات اصلي در دانش شناختي است. هر « جمله: ةترجم
شناخت تلاش كرده است تا اين مطلب را توضيح دهد. احتمالاً هيچ موضوع  ةنظري

  »ديگري چنين بحثي را برنينگيخته است.
  ) قدرداني كردن2  كردن ) موافقت1
  ) برانگيختن4  ) متهم كردن3

 ----------------------------------------------  
  (جواد مؤمني)  »3«ي  گزينه -13

نشين شهر  زاغه ةافرادي كه در ناحيعليه هرساله جنايات بسياري «جمله:  ةترجم
  »شود.ما ساكن هستند، انجام مي

  ) تسليم شدن2  ) رقابت كردن1
  ) اجرا كردن، انجام دادن 4  دنبو ) ساكن3

 ----------------------------------------------  
  )مقدم روزبه شهلايي(  »4«ي  گزينه -14

طور خاص مفيد نيستند؛  ارقام و نتايج به خودي خود (به تنهايي) به«جمله:  ةترجم
  »ها را تفسير كنيم تا بفهميم واقعاً چه معنايي دارند. لازم است آن

  ) جذب كردن2  اوت كردن) قض1 
  ) تفسير كردن4  ) گسترش دادن3

 ----------------------------------------------  
  (جواد مؤمني)  »3«ي  گزينه -15

يك ربات  احتمالاً بارسد كه كارگران انسان فرا ميدارد زمان آن «جمله:  ةترجم
  »جايگزين شوند.

  ) تعمير كردن2  ) صرف كردن، خرج كردن1
  ) ترجيح دادن4  دن، فرا رسيدن) نزديك ش3

 ----------------------------------------------  
  )اكبر افرازي علي(  »4«ي  گزينه -16

عنوان يك حامي ارزش تجارت آزاد، اغلب براي سخنراني به  بنت به« جمله: ةترجم
  »كرد. شد و مزاياي تجارت نامحدود را ستايش مي سرتاسر دنيا دعوت مي

  ابهام )2  ) ناشايستگي1
  ) حسن تعبير4  ) مزيت، خاصيت3

  زبان تخصصيهاي تستي  سؤال   پاسخ
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  (جواد مؤمني)  »3«ي  گزينه -17
برخي از كارها در خانه لازم بودند، در حالي كه كارهاي ديگر به «جمله:  ةترجم

  »شد.طور داوطلبانه انجام مي
  ) داوطلب، داوطلبانه2  ) ضروري، حياتي1
  ) ممنون4  ) مهم3

------------------------------------------ ----  
  )عبدالرشيد شفيعي(  »4«ي  زينه -18

گذشته در اداره ة چه هفت ن  هيچ فردي مايل نيست مسئوليت آ« جمله: ةترجم
  »  اتفاق افتاد را بپذيرد.

  معقول، سالم) 2  ) مبهم1
  ) مشتاق، مايل4  ) آگاه3

 ----------------------------------------------  
  (جواد مؤمني)  »3«ي  گزينه -19

شرايط قرارداد را پذيرفتند و آن را با توافق امضا  ،هر دو حزب: «جمله ةترجم
  »كردند.

  ) شرط، وضعيت2  ت) فرصت، مناسب1
  ) وضعيت، موقعيت4  ) وضعيت3

 ----------------------------------------------  
  )مقدم روزبه شهلايي(  »4«ي  گزينه -20

بود، در حالي كه امروزه  سابقاً پوشش زنان و مردان كاملاً متمايز«جمله:  ةترجم
  »پوشند. مي شلوارهمانند مردان در موارد بسياري زنان 

  ) همسان2  ) برجسته1
  ، مرئي) آشكار4  ) متمايز3

 ----------------------------------------------  
  )اكبر افرازي علي(  »4«ي  گزينه -21

ند، به خاطر قربانيان فاجعه ياري رسا بهبعد از اين كه سازمان « جمله: ةترجم
  »دوستي به آن جايزه داده شد. نوع

  ) مصالحه، آشتي 2  ) ابتكار  1
  دوستي ) نوع4  ) ولخرجي3

 ----------------------------------------------  
  )ميلاد قريشي(  »4«ي  زينه -22

توانيم  ما مي فت چه چيزي در پايان اتفاق افتاد،اگرچه داستان نگ« جمله: ةترجم
  »  لازم برسيم. ةيجراحتي به نت به
  ) عملكرد، ساز و كار 2     ) نتيجه1
  ) اجرا، عملكرد4  ) ارائه، سخنراني  3

گيري كردن، به نتيجه  نتيجه«معناي  به  ”reach conclusion“عبارتتوجه: 
  باشد. مي» رسيدن

 ----------------------------------------------  
  )مقدم روزبه شهلايي(  »4«ي  گزينه -23

تر بود، با اين حال، دومين  ورود قهوه به انگليس از چايي قبل«جمله:  ةترجم
  »تر مورد پسند است. نوشيدني است كه امروزه بيش

    ) محدود كردن2  ) تبديل كردن1 
  ) قبل بودن، اسبق بودن4  ) دنبال كردن3

 ----------------------------------------------  
  )اكبر افرازي علي(  »4«ي  زينه -24

هاي  دستورالعمل ،بازرس سلامت دربارة چگونگي اصلاح مشكل« جمله:رجمة ت
  »شديم كه چگونه اين موقعيت را كنترل كنيم. متوجهروشني داد؛ همة ما 

  ) ابتدايي2  ) هميشگي1
 ) ناچيز4  ) صريح، روشن3

  )عبدالرشيد شفيعي(  »4«ي  گزينه -25
  گويي به ملزومات سخها و متخصصان در تلاش براي پا توليدكننده« جمله: ةترجم

 »پذير، هستند. بيني مداوماً متغير، اگرچه پيش
  طور عاطفي ) به2  ) در واقع  1
  طور قطعي ) به4  ، مداوماًطور مداوم ) به3

 ----------------------------------------------  
 (شهراد محجوبي)  »4«ي  گزينه -26

يد تكرار و به معناي ق ”hardly“است و  ”hard“ ةخود كلم ”hard“نكته: قيد 
و منظور است و بعد  هدف ةدهند ربط ”so that“باشد.  مي» به سختي، به ندرت«

رود كه  + فعل اصلي + فعل كمكي + فاعل) به كار مي …كامل (از آن يك جملة 
پايه تطابق زماني داشته باشد. عبارات  ةدر اين جمله، فعل كمكي بايد با فعل جمل

“so as to”  و“in order to” روند و بعد  نيز براي بيان هدف و منظور به كار مي
در  ”quicker“گيرد. كاربرد  قرار مي ”to“ها فعل به صورت مصدر بدون  از آن
نادرست است؛ چون در توصيف فعل آمده، بايد به صورت » 3«و » 2«هاي  گزينه

   قيد به كار رود.
 ----------------------------------------------  

 (نيلوفر كشتياري)  »4«ي  ينهگز -27
دهندة مغايرت و  ربط» كه، اگر چه رغم اين علي«به معناي  ”although“نكته: 

“while”  دهندة زمان و تضاد صريح  ربط» كه كه، درحالي هنگامي«به معناي
 +(تصوركردن)، فعل دوم به صورت اسم مصدر ( ”imagine“است. بعد از فعل 

ing” رود.  كار مي ) به“فعل“politician”  چون اسم قابل شمارش و مفرد
نكره به كار رفته، بايد با حرف تعريف نامعين به كار رود (دليل  حالتاست و در 

  »).3«و » 2«هاي  نادرستي گزينه
 ----------------------------------------------  

 (مرجان شيخي)  »3«ي  گزينه -28
ه، جمله را به صورت سؤالي در اول جمل ”Not until now“نكته: قيد منفي 

متعدي است و » ريزي كردن برنامه«به معني  ”programme“. فعل آورد درمي
قبل از آن قرار گرفته، داراي وجه مجهول است. فعل  ”computers“چون مفعول 

“react”  ةبا حرف اضاف» واكنش نشان دادن«به معني “to” .همراه است  
 --------------------------------- -------------  

 (مسعود پيربداقي)  »4«ي  گزينه -29
تواند به درمان فرد كمك كند، در  مقدار اندكي پرتوافشاني مي«جمله:  ةترجم
  »شد. خواهدكه مقدار بيش از حد باعث آسيب  حالي

به  ”to“يا مصدر بدون  ”to“، فعل دوم به صورت مصدر با ”help“نكته: بعد از 
تضاد  ةدهند با توجه به مفهوم جمله، ربط»). 1« ةينرود (دليل نادرستي گز كار مي

كه حرف » چه مبادا، چنان«به معني  ”in case“صريح مورد نياز است و كاربرد 
 ”radiation“است. در ضمن،  نادرست» 2«و » 1«هاي  شرط است، در گزينه

نادرست » 3«و » 2«هاي  در گزينه ”many“اسم غيرقابل شمارش است و كاربرد 
   است.

 ----------------------------------------------  
 (مرجان شيخي)  »4«ي  گزينه -30

  هاي ديگر: تشريح گزينه
شود، در نتيجه  براي مقايسه بين دو چيز از صفت برتر استفاده مي»: 1« ةگزين

“short”  بايد به“shorter” شود.  تبديل“fulled-size”  بايد به صورت عبارت
كامل) نوشته شود تا اسم بعد از خود را توصيف  ةانداز(در  ”full-size“وصفي 

  كند.
 ةحرف اضاف ”than“تبديل شود.  ”shorter“بايد به  ”shortest“»: 2« ةگزين

  مناسب براي صفات برتر است.
 ”fulled-size“حرف اضافة مناسب براي صفات برتر است.  ”than“»: 3«گزينة 

   شود. نوشته ”full-size“بايد به صورت 
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 (عبدالرشيد شفيعي)  »4«ي  ينهگز -31
  ) ممكن است صبر كنيد 2  شود اگر بگيريد ) چه مي1
  توانيد متوقف كنيد ) مي4  ) طوري نيست اگر برسم (به)  3

 ----------------------------------------------  
 (عبدالرشيد شفيعي)  »4«ي  گزينه -32

  ) ممكن است بگوييد  2  گوييد     ) چرا نمي1
  ) چه طور است4  ن اين است كه   ) منظورتا3

 ----------------------------------------------  
 (عبدالرشيد شفيعي)  »4«ي  گزينه -33

  ) شما اصرار داريد  2  ) مشكلي نيست1
  فهمم ) منظورتان را مي4  ) اگر جاي تو بودم  3

 ----------------------------------------------  
 عبدالرشيد شفيعي)(  »4«ي  گزينه -34

  يكي كردن را ) دخل و خرج 2  ) غرق در پول بودن   1
  پول ماندن ) بي4  دار بودن خيلي پول  )3

 ----------------------------------------------  
 (عبدالرشيد شفيعي)  »4«ي  گزينه -35

  سفم     أ) مت2  ) شايد ديگر وقتش است   1
  است ديدگاه شما درست) 4  ) گفتنش سخت است 3

 ----------------------------------------------  
 (عبدالرشيد شفيعي)  »4«ي  گزينه -36

  ) اگر راست باشد چه 2  ) بايد اعتراف كنم (كه) 1
  كنم طور فكر نمي ) اين4  ) چرا كه نه   3

 ----------------------------------------------  
 (عبدالرشيد شفيعي)  »4«ي  گزينه -37

  ) درست است    2  ه آيا   ) شك دارم ك1
  ) خيالم راحت است4  ) بگذار ببينيم 3

 ----------------------------------------------  
 (عبدالرشيد شفيعي)  »4«ي  گزينه -38

  ) انتخاب كردن     2  ) نااميد كردن     1
  عبور كردن ،گذشتن  )4  ) به خواب رفتن  3

---------------------------------------- ------  
 (عبدالرشيد شفيعي)  »4«ي  گزينه -39

  ) خوشحال كردن   2  تدبير كردن    ،) به نتيجه رسيدن1
  ) بيش از طاقت كسي بودن4  سخت بودن    ،پيچيده بودن  )3

 ----------------------------------------------  
 (عبدالرشيد شفيعي)  »4«ي  گزينه -40

  ) مستقل بودن 2  ) در صلح و صفا بودن  1
  ) درآمد كسب كردن4  ) اشتباه كردن   3

 ----------------------------------------------  
 مقدم) (روزبه شهلايي  »4«ي  گزينه -41

 ”which/that were taken“كوتاه شدة عبارت وصفي جا ايندر  ”taken“ نكته:
  است.

 مقدم) (روزبه شهلايي  »4«ي  گزينه -42
به معني  ”to make an impression on somebody“نكته: به تركيب 

  هاي ديگر:دقت كنيد. مثال» توجه كردن جلبثير گذاشتن، أروي كسي ت«
He made quite an impression on the girls at the tennis club. 
It’s a performance that’s sure to make an impression on the 
judges. 

 ----------------------------------------- -----  
 مقدم) (روزبه شهلايي  »4«ي  گزينه -43

  كه زيرا، از زماني) 2  زيرا) 1
  اگرچه) 4  كه بار، وقتي يك) 3

 ----------------------------------------------  
 مقدم) (روزبه شهلايي  »4«ي  گزينه -44

شود. توجه كنيد كه از اين ديده مي» 4«نكته: ترتيب صحيح اجزاي جمله تنها در گزينة 
  ال خواهيد داشت.ؤالات (ترتيب اجزاي جمله) در كلوز تست كنكور حتماً سؤه سگون

 ----------------------------------------------  
 مقدم) (روزبه شهلايي  »4«ي  گزينه -45

  ) جور ديگر، اين به كنار، وگرنه2  ) با وجود اين1
 كه ) به شرط اين4  ) بنابراين 3

نقش قيد به كار رفته است. اين كاربرد بسيار  در ”otherwise“جا  نكته: در اين
 . مثالي ديگر از اين كاربرد:استرايج و البته مهم 

The test helps identify problems that might have otherwise gone 
unnoticed. 
The city children enjoyed the movie about life on a farm.  They 
saw things that they might otherwise never see. 

 ----------------------------------------------  
 مقدم) (روزبه شهلايي  »4«ي  گزينه -46

دقت كنيد. مثالي  ”leave somebody doing something“به تركيب  نكته:
  ديگر:

The accident left her feeling confused and hurt. 
   .در او شد يآزردگ و يجيگوجود آمدن احساس  به ، باعثتصادف

 مقدم) (روزبه شهلايي  »4«ي  گزينه -47
به ارتباط معنايي دو جملة قبل و بعد از جاي خالي، به حرف ربط  توجهنكته: با 

   نياز داريم. ”and“ساز هپاي هم
 ----------------------------------------------  

 مقدم) (روزبه شهلايي  »4«ي  گزينه -48
  است. » كه، گويي، انگار چنان«به معني  ”as if“نكته: 

اي به زمان گذشته با مفهوم زمان حال  جمله as if/as thoughگاه پس از 
گوييم؛  موضوعي غيرحقيقي و تشبيهي سخن مي ةآيد. اين وقتي است كه دربار مي

 مثال:

They treat me as if I were their own son. 
ستم (كه البته نيستم ـ صرفاً يك شان هخود كنند انگار پسر با من طوري رفتار مي

 تشبيه است).

تواند در زمان حال به  فعل مي …و  sound ،feel ،look اما بعد از افعالي مانند
كار رود و مفهوم جمله ديگر غيرحقيقي نيست، بلكه بيان احتمالي از يك موضوع 

  است:
     رسد كه انگار پولدار است. او جوري به نظر مي

She looks as if she is rich. (Perhaps she is.) 
  .شناسيد رسد همديگر را مي شما به نظر مي

You look as though you know each other.  
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 مقدم) (روزبه شهلايي  »4«ي  گزينه -49

كار  به ”to“ دار و يا مصدر با ”ing–“ صورت فعل دوم به ”begin“نكته: بعد از 
   حالت فرقي با هم ندارند. دورود. اين  مي

--- -------------------------------------------  
 مقدم) (روزبه شهلايي  »4«ي  گزينه -50

مربوط به ”can“داريم. ”could“نكته: با توجه به زمان جمله، نياز به فعل وجهي 
   زمان حال است.

 ----------------------------------------------  
 مقدم) (روزبه شهلايي  »4«ي  گزينه -51

  آوردن به ياد) 2  پاسخ دادن) 1
  نگه داشتن، در خاطر حفظ كردن) 4  تكرار كردن) 3

 ----------------------------------------------  
 مقدم) (روزبه شهلايي  »4«ي  گزينه -52

كند عملي از گذشته شروع شده و تا زمان حال زمان ماضي نقلي بيان مينكته: 
يكي از قيود رايج در اين  ”since“(شايد هم تا آينده) ادامه يافته است. ضمناً قيد 

   زمان است.
 ----------------------------------------------  

 مقدم) (روزبه شهلايي  »4«ي  گزينه -53

  سوار شدن، پوشيدن، ادامه دادن) 2  رسيدن به) 1
  دنخلاص كرمنسوخ كردن، ) 4  سفر كردن) 3

 ----------------------------------------------  
 مقدم) (روزبه شهلايي  »4«ي  گزينه -54

    شانس، اتفاق )2  بخت، اقبال) 1
  تقدير، ثروت) 4  سرنوشت) 3

 ----------------------------------------------  
 مقدم) (روزبه شهلايي  »4«ي  گزينه -55

ترتيب صحيح  در اينجا وجه وصفي در حالت قيدي است. ”believing“نكته: 
  ه است. حالت ديگر اين گزينه:آمد »3« ةنيز در گزين جملهاجزاي 

What's more, he never tires of searching for new places, 
because he always believes that he’ll spot something tomorrow 
that will be even more impressive than what he has seen today. 

 ----------------------------------------------  
  )عبدالرشيد شفيعي(  »2«ي  ي -56

  »كند؟ چه چيزي بحث مي ةمتن عمدتاً دربار«ترجمة جمله: 
  »ند.نك عناصري كه موسيقي مردمي را تعريف مي«

 ----------------------------------------------  
  )عبدالرشيد شفيعي(  »2«ي  ي -57

توسط » يمردم ةتران«يك از جملات زير دربارة اصطلاح  كدام«ي جمله:  ترجمه
  »شود؟ متن تأييد مي

  »عدم توافق وجود دارد.و معني آن، اختلاف  ةدربار«
 ----------------------------------------------  

  )عبدالرشيد شفيعي(  »2«ي  ي -58
  »اشاره دارد. ”song“كه زير آن خط كشيده شده به  ”it“ ةكلم: «جملهترجمة 

  )عبدالرشيد شفيعي(  »2«ي  ي -59
مردمي ة ترانة يك از موارد زير در متن به عنوان يك مشخص كدام: «جملهترجمة 

  »؟شود نميمعمول يا رايج ذكر 
  »بردارد. اي را در آن ساختارهاي موسيقيايي پيچيده«

 ----------------------------------------------  
  )عبدالرشيد شفيعي(  »2«ي  ي -60

اي مردمي فراموش ه طبق متن، چرا آهنگسازان اصلي ترانه: «جملهترجمة 
  »شوند؟ مي

  »آيند. طور همزمان به وجود مي هاي مردمي به انواع متعددي از ترانه«
 ----------------------------------------------  

  )مقدم روزبه شهلايي(  »2 -61
  »كند؟ متن عمدتاً دربارة چه چيزي بحث مي«جمله: ترجمة 

شان  و در اولين مراحل رشد زبانيكنند  نوزادان صداي انسان را ادراك مي چگونه«
  »دهند. به آن واكنش نشان مي

 ----------------------------------------------  
  )مقدم روزبه شهلايي(  »2 -62

هايِ خيزان و  كند كه با صرف چرا نويسنده هجاهايي را ذكر مي«جمله: ترجمة 
  »شوند؟ افتان تلفظ مي

تواند برخي از  اي پيشاپيش مي ههفت كه يك كودك شش نشان دادن اين براي«
  »هاي زباني را تمييز دهد. تفاوت

 ----------------------------------------------  
  )مقدم روزبه شهلايي(  » -63

كه زير آن خط كشيده شده از نظر معنايي به  ”diverse“كلمة «جمله: ترجمة 
“different” )ترين است. ) نزديكمتفاوت«  

2 ------------------- ---------------------------  
  )مقدم روزبه شهلايي(  » -64

هايي كه بزرگسالان در هنگام  همة موارد زير را به عنوان راه ،متن«جمله: ترجمة 
 ةبر هم جز بهكند  ارائه مي ،دهند را تغيير مي گفتارشانصحبت كردن با نوزادان 

  »كلمات تأكيد مساوي كردن.
 -------------------------------- --------------  

  )مقدم روزبه شهلايي(  »2 -65
هاي توصيف شده در بند دوم  يافته ةيك از موارد زير را دربار كدام«جمله: ترجمة 

  »توان استنباط كرد؟ مي
  »كنند. هاي مشابه صحبت مي هاي متفاوت با نوزادانشان به روش مادران از فرهنگ«

 ----------------------------------------------  
  )رضا كياسالار(  »2 -66

هاي خاك  نشست اصلي نويسنده در بند اول اين است كه ته ةنكت«جمله: ترجمة 
  »متفاوت يافت شود. هاي مكانتواند در  رس مي

 ----------------------------------------------  
  )رضا كياسالار(  » -67

تمال در اح ترين كم رس با توان استنباط كرد كه خاك از متن مي«جمله: ترجمة 
  »است؟ فراوانهاي زير  يك از مكان كدام

  »هاي شني بيابان در تپه«
 ----------------------------------------------  

  )رضا كياسالار(  » -68
شود  شرايط زير تجزيه مي ةرس تحت هم ، صخره به خاكمتنطبق «جمله: ترجمة 

  »كه آن با (مواد) قليايي تركيب شود. زماني جز به
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   16  صفحه:  منحصراً زبانمنحصراً زبان)ارديبهشت  27(آزمون غيرحضوري آزمون غيرحضوري   

  )ياسالاررضا ك(  » -69
، كه زير آن خط كشيده شده را ”feldspar“ ةكلم نويسندهچرا «جمله: ترجمة 
  »كند؟ ذكر مي

  »جزء اساسي از خاك رس است. آن يك«
 ----------------------------------------------  

  )رضا كياسالار(  » -70
توان استنباط كرد خاك  موجود در متن، مي اطلاعاتبراساس «جمله: ترجمة 

توانند پرمنفذ  اند كه مي براي ساختن اشيائي مفيدترين ”low-fire“هايِ  رس
  »باشند.

 ----------------------------------------------  
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